Figure 1. Given x, sketch y.
EECS20N, Quiz 2, 9/27/99

The quiz will count as one homework. It will take 15 minutes. Do your calculations on the sheet

and put a box around .

Please print your name here:

Last Name First

1. Thesigna = : Reals — Reals is sketched in Figurel.
() Inthe space provided carefully sketch the signal y, where

(e 9]

vt y(t) = > a(t—2k).

k=—o00

(b) Supposet isin seconds. The period of y is

2. Theperiodic signa x : Reals — Reals isgiven by
Vt, x(t) = 2sin(2760t 4+ 7/4) + 0.5sin(27120¢ + 7/8).

() The period of = in seconds is.

(b) Suppose x isinput to aLTI system whose frequency response is

) 1, if |w| < 2780rads/sec
H(w) = { 0, otherwise

Let y be the output signal. Then
Wi, y(t) =| 2sin(2m60t + 7/4) |




